Profitability through Effective Safety Programs – Pre-test and Post-test

(Correct answers are Underlined)

1) What is the leading occupational cause of deaths among roofing workers?

a. Falls

b. Transportation accidents

c. Struck-by injuries

d. Electrocutions

2) By virtue of the Occupational Safety and Health Act of 1970, Congress created OSHA primarily to

a. Create safety standards

b. Assure safe and healthful working conditions for men and women

c. Enforce safety standards

d. Provide training on safe work practices

3) True or False: Federal OSHA requires employers to create a written company safety program.

a. True

b. False

4) According to Dr. E.J. Leverett’s definition of risk management, which of the following is not true?

a. It’s the pre-loss planning for post-loss delivery

b. It seeks to protect assets

c. It seeks to minimize loss

d. It focuses on processes to mitigate loss

5) What is the most important step in the risk management process?

a. Risk Transfer

b. Risk Identification

c. Risk Mitigation

d. Follow up to ensure it doesn’t happen again

6) If you don’t identify a risk you

a. Transfer it to an insurance policy to pay for it

b. Automatically absorb it

c. May not be sued for resulting losses

d. Cannot be liable under a hold-harmless clause

7) If you get sued for negligence, what insurance mechanism would respond?

a. Property

b. General Liability

c. Inland Marine

d. Workers Compensation

8) If your employee’s wife sues you for her husband’s injuries, what policy would respond?

a. Property

b. Auto

c. General Liability

d. Workers Compensation

9) An example of an indirect property loss is

a. Workers damaging a client’s building

b. Smoke damage

c. Loss of use

d. Pain and suffering

10) As they affect an insured’s EMR, insurance companies are most concerned about

a. Big infrequent claims

b. Small frequent claims

c. Both

d. Neither

11) A good example of a loss control activity is

a. Buying insurance

b. Implementing a safety program

c. Asking staff to use common sense when carrying out duties

d. Hiring subcontractors

12) Choosing not to do asbestos work is an example of

a. Risk transfer

b. Job hazard analysis

c. Risk identification

d. Risk avoidance

13) Which of the following is not a risk transfer mechanism?

a. Insurance policy

b. Hold harmless language

c. Indemnification clause

d. Safety training program

14) If an activity has a high risk possibility and a high cost associated with that risk, should it be retained?

a. Yes

b. No

15) Regarding the Hierarchy of Controls for preventing injuries, Personal Protective Equipment is preferred over substitution.

a. True

b. False

16) According to Dr. A. Mehrabian, communication can be broken into two types:

a. Passive/active

b. Verbal/nonverbal

c. Constructive/destructive

d. Distinctive/generic

17) If a person disagrees with you, you know they haven’t been listening to you.

a. True

b. False

18) Adult learners learn best when

a. They share their experiences.

b. They are shown PowerPoint presentations.

c. Class materials contain photos and graphics rather than text.

d. Course content is presented outside of a classroom atmosphere.

19) Most adult learners feel retention of learned information is best accomplished by

a. Hearing

b. Seeing

c. Doing

d. Memorization

20) Training is enhanced when an instructor

a. Uses power point

b. Allows adult learners to share experiences

c. Has students work in small groups

d. All of the above

21) At a minimum, a successful safety program should include

a. Safety video training

b. Toolbox talks and a safety committee

c. A budget

d. An incentive program and a disciplinary program

22) Safety policies and procedures should

a. Reflect the mission of a company

b. Reflect stated annual goals

c. Be reviewed by the safety committee

d. A, B & C

23) A safety director’s role should be one of

a. Facilitator

b. Enforcer

c. Trainer

d. A, B & C

24) A safety director is primarily responsible for job site safety

a. True

b. False

25) A company’s safety committee

a. Is required under OSHA rules

b. Is a primary means of analyzing the effectiveness of a company safety program

c. Should keep meeting minutes for review by the company’s insurance carrier

d. Must include the company owner or chief executive

26) In budgeting for safety, only fixed costs for training and equipment are considered.

a. True

b. False

27) A safety program’s ultimate goal is to change worker behavior not necessarily eliminate accidents.

a. True

b. False

28) A 4-step disciplinary process follows a process that includes

a. Training, incentives, bonuses, reprimands

b. Warning, suspension, hearing, appeal

c. Job inspection, accident review, penalty assessment, appeal

d. Verbal and written warnings, suspension, termination

29) List three non-monetary benefits of a safety program

a. Enhanced Reputation

b. Increased morale

c. Decreased Distraction

30) List three monetary benefits of a safety program

a. Decreased Lost time

b. No Fines

c. No Law suits

d. Decreased Insurance Costs

e. Decreased Overtime

f. Any reasonable answer is acceptable. The point is to get them to think about it.
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